[ Efficiency vs vertpos |

T T T T[T [Tt

107 1

=
2
N

10 0
TP vertr (cr%)

2

—— DQM_TT__CKF_ORIG

Efficiend —— DQM_TT_CKFandPLess ORIG
ICleNd __,__ pQM_TT__CKFandPLess_MODIF

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005
0

1]

Ratio

0.9

2
Q‘OO
o
I ; ¢ -
(=) . H . . .
|
LN
o

10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05

P R SURU U SUNUE AU
L e S

S

S0.08f i friv b
2 : : : : :

9.025
[J]
0.02
0.015

##i

R T S A
N S et SR SN S
> . . . . . .

0.005E -5+ |- FH bbb L

.......

o O+ : : : : : 1

R SR TTTE R Y e ]L L4

1 E L : : ]
0.9 - ....Emiﬂ. I

510

e

N

O

l .

[ A
[(6)] : '
| :

=

|

al

(@]

15 20

Sim. PV z (cm)




	Contents
	Page 1


